
                                                
 
 

                                                          St David’s Day ‘Make it Reasoning 
 

 

 

 

  

 

  

 

 

Make it reasoning.... 

True or false? Half the flags are St David’s flags. 
Convince me.  If there were 6 rows of flag squares in the 
banner, there would be 48 flag squares. 
 

 

 

 

                  DCI Nose is hiding some  
 ‘flag’ squares on the banner. How many ‘flag’    
 squares are there on the banner altogether?  
                       How do you know? 
 
 
 

 

 

 

 

 
 

Information: 

2 people for each square, 1 
metre by 1 metre 

The pavement in this part 
of Cardiff Bay is 15m wide 

 Estimate the number of people 
in the parade. 

100m 
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